Mural Club

Contacts:

President: Jessica Engelman, jengelman@brynmawr.edu, 719-641-9570

Vice President: Ariel Rosenstock, arosenstoc@brynmawr.edu

Treasurer: Pamela Burt, pburt@brynmawr.edu

ITEM	Total Needed	Total Awarded
Acrylic Paint, various	\$50.00	
Brushes, various	\$10.00	
Transparency Paper	\$40.00	
SEMESTER TOTAL:	\$100	

Grievances will take place at 10pm on Wednesday here at the SGA House

Please email me if you are signed up but cannot make it at this time at llemon@brynmawr.edu

W. Rialin Xu ASA	
2. Meegan Winslow BrANCH. Out!	
B, Lawa Kelly Budden Folk Club	
4. Ellen Goodlett Athens's Circle	
5. Sarah tabi IVCF	
6. Jessica Engelman Mural Club	
V. Katherine Wools, Lavender's Blue	
8. Judy Bar, Curicula Comittee	
19. Noelle Fair, Nicole G, Kulidescope	
10. Marge Stack, 10 Good Richard Show	10
11. Emily kermon Breakdance Clib	
12. Wisang Toweras Myeres	
13. Noyia Mohamed, Sang V, Edin Fako, MS	,
14. Sarah Apolley Night By	SICINI
15. Adnenne Wysb	Frecios
16. Emily Wiseman / Athlet	ic Association

AAA 5300M Branch .. Out! \$50 FOLK Clob \$190 Atheno's Circle \$25 LVCF 1065 \$500 Mural Club \$ 100 Lavendeis Blue \$37 Curriculum Committee 5300 \$ 385 Klacielesecope \$150 Rocky Horror Breakdance Chib \$40 Khu paeis Mujeres 5300 \$500 MSA Night Owls \$300 \$275 \$ 350 Association

DATE SUBMITTED: Friday, January 30, 2009

NAME OF CLUB OR ORGANIZATION: Alternative Concert Series

MISSION/PURPOSE OF CLUB OR ORGANIZATION: It is the Alternative Concert Series' priority to host as many concerts and artistic talents as possible to provi school with a nighttime social atmosphere and to support the local music community.

CO-HEADS:

Elizabeth Hood 2010 C-203

203-216-5091

Melissa Carn 2010

717-991-6658

NUMBER OF MEMBERS: 2.

TYPE OF ACTIVITIES: Nighttime weekend concerts to be held in college sponsore areas. Concerts open to the Tri-College community will be free of charge to students.

TOTAL CLUB BUDGET FOR TOTAL FISCAL YEAR: \$3,180.00. After extensive research, the co-heads have found that a headliner band will cost \$1,000-\$1,500 for a hour set and an opening band can cost within the range of \$200-\$500 for the same set assignment. This is similar to the budgets rewarded to the concert series organizations Haverford (\$13,000 in Spring '08) and Swarthmore (\$20,000+ in Spring '08).

AMOUNT OF FUNDS REQUESTED FROM FUNDER: \$3,180.00

SOURCE OF FUNDING	PROTECTION OF THE PROPERTY OF	CONFIRMED OR RAISED AT TIME OF APPLICATION TO FUNDER
Bryn Mawr College		
SGA/Special Events/Student Activites	\$3,180.00	ealling band offer
come act and the operating	rana can-cost wi	hin the range of \$200-

the hudgets rewarded to the concert of

EX	PENSES	DESCRIPTIO N NULL VENUE	COSTS FOR ITEMS IN A BUDGET LINE RAISED AT TIME OF APPLICATION	TOTAL FOR BUDGET LINE
----	--------	-------------------------------	--	--------------------------

Acabellas

Contacts:

President: Cara Sogliuzzo, csogliuzzo@brynmawr.edu, (973) 454-1693 Secretary: Laura Kelly-Bowditch, lkellybowd@brynmawr.edu, (781) 454-6421 Treasurer: Rachel Anderson, rmanderson@brynmawr.edu, (651) 226-3264

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Live Recording of a Concert		1	\$200	\$200	200
Recording Sessions Date		4 2	\$50.00	\$200.00	100
Transition Date	Office supplies Item 2 Item 3		\$20.00	\$20.00	20
	Item 4				

SEMESTER TOTAL:

\$420.00	\$320.00
9.16.0.00	4050,00

Bryn Mawr Aikido Club Budget Spring 2009

President: Hannah Gatz-Miller, hgatzmille@byrnmawr.edu, 971-570-1498, Box#546

Vice President: Katie Randall, kbrandall@brynmawr.edu, 347-575-9981

Treasurer: Erin Reviea, ereviea@brynmawr.edu, 650-922-7140

Activity:

quantity

price

amount requested

Amount Giver

Aikido Instruction Fee:

20 people

\$45

\$900

\$450

(Min. accepted: \$850)

	OF EXPENSES		
TECHNICAL	and a consider	SUFFICIENCY CONTRACTOR	N. Sharker
	Sound	\$1000/show x 3 shows	\$3,000.00
	Sub-Total		
HOSPITALITY		27-2-10	
Food for Headlining Acts	1	Sept his to	
	Dinner Materials (to be cooked in	\$40.00 per meal x 3 shows	\$120.00
	Sub-Total		
ADVERTISING	-714		
Posters	Publicity of	\$.50/page x 20	\$60,00
	concerts (to be printed out in Guild Computer Lab- colored printers).	posters per show x 6 shows (includes publicity at BMC & HC). Uses maximum budgeting for publicity per show	\$3,0000
	Lünner	\$40.00 per meal x 3	K130.00
TOTAL EXPENSES	77.48.53	d.	

concerts (to be shows (includes

ide the

ejhood@bmc mcarn@bmc

:d

ve

: at

TOTAL FOR BUDGET SECTION

3	
\$0.00	
\$120.00 \$60.00	
\$180.00	

,

Apiary Association

m		
Con		œ
WUID	ualu	ua.

President: Sarah Khasawinah, skhasawina@brynmawr.edu, 610-526-5711, Box C-932

Secretary: Amy Veprauskas, aveprauska@brynmawr.edu

Treasurer: Briana Bellamy, bbellamy@brynmawr.edu, (925) 300-6574, Box C-1474

EVENT		ITEM		Quantity
Building Hive				
	2/16/2009	10-Frame Empty Unassembled DT Hive Body		4
		10-Frame Empty Unassembled Shallow DT.Supe	r	4
		9-1/8 Frame Wedge Top/Divided Bottom (each)		40
		5-3/8 Frame Wedge Top/Divided Bottom (each)		40
		50 Sht Box 8-1/2 Crimp Wire Foundation		1
		50 Sheet Box Small Cell 5-5/8 Crimp Wire Found	dation	1
		10-Frame Telescoping Top		2
		10-Frame Goble Inner Cover		2 2 2
		10-Frm IPM Bottom Board		2
		10-Frame Hive Stand		2
			total	
Apiary Interest Tea		4 oz jars of regional honey		5
		Natural Herbal Teas		4
		Spoons		2
		Special Control of the Control of th	total	
Building Hive Party				
	2/28/2009	Hot Chocolate		2
		Snacks		2 4 3
		Drinks		3
			total	
Harvesting Festival				
	5/6/2009	Ice Cream		2
		Honey		5 2 2 2
		Utensils		2
		Bowls		2
		Water Balloons		1
		Flyers	total	
Bee Symposium				
	3/23/2009	Tray of Honey Treats		4
		Dr. Thomas Seeley Honorarium		1
		Roundtrip Transportation for Speaker on Amtrak		1
		Night in Wyndham	tetal	1
			total	

AL 1					_
Club	Ad۱	vert	ısem	ent	s

Set of 50 Table Tents Flyers for each event 3

total

SEMESTER TOTAL:

1 100

Carlotte Control

97 04 31 311

and a supplemental and a supplem

mg 1 - 1 20 to

1,11

Price	Total Needed	Total Awarded
15.25	\$61.00	\$61.00
\$10.75	\$43.00	\$43.00
\$0.68	\$27.00	\$27.00
\$0.68	\$27.00	\$27.00
\$43.25	\$43.25	\$43.25
\$41.00		\$41.00
\$17.45	\$34.90	\$34.90
\$8.15	\$16.30	\$16.30
\$13.75		
\$10.95	\$21.90	
	\$342.85	
\$10.00	\$50.00	\$25.00
\$10.00	\$40.00	\$20.00
\$4.00	\$8.00	\$4.00
	\$98.00	
\$4.00	\$8.00	\$0.00
\$3.50		
\$1.00	\$3.00 \$29.00	
\$15.00	\$30.00	\$0.00
\$8.00		\$0.00
\$4.00		
\$4.00		
\$3.00 \$14.00		
\$14.00	\$106.00	\$0.00
\$15.00		\$0.00
\$300.00		\$0.00
\$200.00 \$75.00		\$0.00 \$0.00
\$75.00	\$635.00	\$0.00
	4000.00	-0.00

\$10.00 \$30.00 \$0.00 \$10.00 \$40.00 \$0.00

645.85 \$391.85

Association of International Students

Contacts:

President: Paula Hidalgo, Phidalgo@brynmawr.edu, 215 207 4293

President: Marium Sattar, msattar@brynmawr.edu, 267 241 6980, BOX C-1239

Secretary: Giang Tran, gtran@brynmawr.edu, BOX C-425

Treasurer: Anagha Kumar, akumar, 484 598 3005, BOX C-1138

EVENT	ITEM	Quantity I	Price
Atlantic City Spri	ing Break Trip		
(S. 15)	7-Mar Bus hire and Driver from Transportation Office		\$600.00
Valentines Day T	Fea/ Movie Screening		
	14-Feb Pizza	5	\$50.00
End-of-Semester	r Banquet		
	18-Apr Catered Indian Food, Desi Village K.O.P.	1	\$400.00
Franklin Mills			
	11-Apr Bus hire and Driver from Transport Office	.1	\$350.00
International Par	ty		
	28-Feb Soda	5	\$3.00
	Cake	2	\$10.00
International Cod	oking Contest		
	8-Mar Groceries for 10 people		\$100.00

SEMESTER TOTAL:

Total Needed Total Awarded

\$600.00	\$600.00
\$50.00	\$50.00
\$500.00	\$0.00
\$350.00	\$250.00
\$15.00 \$20.00	\$15.00 \$20.00
\$100.00	\$0.00

\$935.00

\$1,635.00

Athena's Circle

Contacts:			
President:	Name.	Email.	PI

Phone: Ellen Goodlett, egoodlett@bmc, 412-401-8616; Sarah Christian, schristia

Secretary: Name, Email, Phone

Treasurer: Name, Email, Phone Olivia Coplan, ocoplan@bmc, 215-713-6091

- ower taper

EVENT	ITEM	Quantity F	Price	Total Needed
Ostara				
21-Mar	Food		\$75.00	\$75.00
70.0000	5lb bag potting soil	1	\$15.00	\$15.00
	Seed packets	5	\$2.00	\$10.00
Beltaine				
3-May	Food		\$50.00	\$50.00
	Flowers		\$120.00	\$120.00
	Scissors	1	\$5.00	\$5.00
	Flower tape	3	\$5.00	\$15.00
Committee Securit Front P		12:401-RE16	Sarah (\$190.00
	none. Clien Goodlett, egoodlett@omc, 4	2-101-0010	r, oaran o	(III) Station
Craft Tea				
Date TBA in April	Dreamcatcher frames	10	\$5.00	\$50.00
340 3449044 347 141 3 1010	Feather packets	5	\$5.00	\$25.00
	Bead packets	5	\$5.00	\$25.00
	Embroidery floss	2	\$10.00	\$20.00
	Fel			\$120.00
SEMESTER TOTAL:	tile bag putting soil			\$410.00
SEMESTER TOTAL:	Seed packets	5	\$2.00	\$110.00

an@bmc, 512-577-7661

Total Awarded

Athiest and Agnostic

Contacts:

Co-Founder: Alexis Egan, aegan, 3018065497

Co-Founder: Ana Arquilla, aarquilla Co-Founder: Lise Chlebak, Ichlebak

EVENT	ITEM	Quantity P	rice	Total Needed
Franklin Museum Trip				80400
	Feb-09 Roundtrip Train Tickets Museum Entry Tickets	8 8	\$8.00 \$18.50	
Darwin's Birthday	Feb-09 Religulous DVD	1	\$20.00	\$20.00
SEMESTER TOTAL:				\$232.00

Total Awarded

\$32.00 \$148.00

\$20.00

\$200.00

BACaSO

Contacts:

Co-President: Teyvonia Thomas, ttthomas@brynmawr.edu, (484) 222-1707
Co-President: Nana Asabere, nasabere@brynmawr.edu, (267) 664-2597
Secretary: Akua Peprah, apeprah@brynmawr.edu, (908) 625-1288
Treasurer: Alida Uwera, auwera@brynmawr.edu, (484) 222-1804

EVENT	ITEM	Quantity
Black Love Formal		
7-1	Feb Yassa Chicken	1
BACaSO's role in this Tri-College event is to pay	*	
for this event will be to provide food for 90		
people	Fried Plantain	1
	White Rice	1
	Baked Whiting	1
The purpose of this week is to draw attention to issues/events that are pertinent to Africa and the		1 1
Caribbean. We aim to do this by hosting two movie showings, inviting a guest performer, and	4	
그렇게 하는 이 에서 얼마의 한 사람들이 되었다. 그렇게 하는 그렇게 하게 되었다면 하나 되었다. 이 나를 다 되었다.		1
hosting various symposia	Refreshments for event	1
BACaSO Africa-Caribbean Week Party		
20-N	Mar DJ	1

Friday Fundays (Co-Sponsored with Sisterhood)

27-Feb Transportation to bowling outing

20-Mar Snacks 10-Apr Snacks In an attempt to foster sisterhood and solidarity among its members, BACaSO would like to initiate "Fun Fridays" on one Friday of each month in which members do an activity together or go on an outing to better get to know one another. There will be 3 "Fun Fridays" for the entire semester. Co-Sponsored Party with Sisterhood DI 24-Apr Retreat 25-Apr Pizza (8 boxes for 20 people) Drinks An event for the BACaSO Executive Board members to learn and discuss how we best work with one another and plan for fall semest. Event will be held in the MCC. Senior Dinner 3-May Dinner (for 20 guests) 1 This is an annual event in which BACaSO members honor the organizations seniors Transportation (3 vans) **Fall Frolic** Candy Fall 09 poster board \$2,131.00 SEMESTER TOTAL:

Total Awarded	Total Needed	Price
\$250.00	\$350.00	\$100.00
		\$50.00 \$50.00 \$150.00
\$200.00	\$400.00	\$35 \$15 \$300
		\$50
\$0.00	\$500.00	\$500.00
\$95	\$95	\$95

\$	1	5	
\$	1	5	

\$250	\$250	\$0
\$120 \$10	\$130	\$130
\$300 \$100	\$400	\$400
\$5.00 \$1.00	\$6.00	\$6.00

\$1,081.00

Spring 2009 Budget - Batten

Spring 2003 Budget Butten		
Needs/Activities	Amount Requested	Amount Awarded
Food for Dinner Guests	\$1,000	\$650
We invite college community members to our home four		
days per week to share the experience of amazing vegan		
cuisine. This past fall, approximately 275 guests turned out.		
Transportation Fare	\$130	\$100
In order to purchase our weekly local produce from the		
Clark Park Farmers Market, we have calculated the need		
for 56 tokens at bulk rate of 10 for \$14.50 (comes to \$87);		
56 transfers @ .75 each (comes to \$42).		
Spring Fling	\$300	\$150
An afternoon-long event open to campus we old every		
spring in which we invite all community members to our		
home for a grand spring-themed feast and entertainment.		
Professor Dinner	\$300	\$150
Each semester, we hold a dinner for professors and their		
families. Quoting one professor of last fall's event, "One of		
the nicest evenings ever at Bryn Mawr College."		
Guest Speakers and Performers	\$300	\$300
We hope to invite several guests to Batten and host unique		
and exciting events for the whole campus. Specifically,		
Richard Hoffman (co-sponsored by the Greens) a local		
filmmaker who will be presenting his film "Fridays at the		
Farm* and Eli Clare, a gender and disability activist.		
Kitchen Apliances	\$350	\$200
Our kitchen is missing few key appliances. We would like to		
purchase a coffee-grinder, a juicer, a stand mixer, a wok,		
some Pyrex measuring cups and glass tupperware.		
Prospective Students Open House	\$200	\$50
In our efforts to reach out to the next generation of		
Mawrtyrs, we would like to host an Open House, much like		
the one we hosted in the fall, as part of their schedule for		
Govinda's Tasting Night	\$200	\$100
Partnering with BARN, we would like to host a tasting night		
with food from Govinda's vegan resaurant which would		
expose the BMC community to gournet vegan food, local		
business practices and a niche culinary experience. Batten Cookbook Every year Batteniks compile their	\$27	\$0
favorite recipes into a cookbook for personal use and for the		
House record. The cost of printing and binding at the Bryn		
Mawr Copy Center is copies at about \$.02 per page, with 30		
pages in each book and 20 books total is \$12. Binding each Total	\$3,157	\$1,700
1.×1001	G-12-1-10-1	

Treasurer: Elizabeth Walsh, Alison Reingold

Elizabeth- (509)5942146 /box 1482 Alison - (301)4679536 / box 1198

ewalsh@brynmawr.edu, areingold@brynmawr.edu

Leaders: Jenny Castle, Kathy Zager, Heather Foley, Laura Kelly-Bowditch, Sophia Wolfenden, Alison Reingold, Lucie Tran, Liz Walsh, Anna Melton, Louisa Amsterdam, Giang Trang, Aubree Gabbard

Trang, Aubree Gabbard Members: 13 Meetings: weekly

BrANCH Out

Contacts:

President: Renee Byer, rbyer@brynmawr.edu, 909-992-2930, Box C-369

Vice President: Meegan Winslow, mwinslow@brynmawr.edu, ---

Treasurer: (none as of yet)

		QUANTITY	PRICE		TOTAL NEEDED	TOTAL AWARDED
Valley Forge Hiking Tr	ip					
(may not end up doing to	hi BMC Van rental		3	34.16	102.48	0
02/28/09 (possibly)	Peanuts		2	1.5	3	0
(12 miles away)	Raisins		2	1.5	3	0
(approx 20-25 people)	Pretzels		1	1.5	1.5	0
	cereal		1	1.5	1.5	0
	chocolate chips		1	1.5	1.5	0
Ringing Rocks Hiking	Trip					
03/21/09 (possibly)	BMC Van rental		3	79	237	200
(50 miles away)	Peanuts		2	1.5	3	0
(approx 20-25 people)	Raisins		2	1.5	3	0
	Pretzels		1	1.5	1.5	
	cereal		1	1.5	1.5	
	chocolate chips		1	1.5	1.5	\$ -
Ridley Creek Camping	Trip					
04/11-12/08 (possibly)	BMC Van rental da	1	3	25.9	77.7	0
(10 miles away)	BMC Van rental da	1	3	25.9	77.7	
(approx 20-25 people)	firewood		2	5	10	0
	Campsite fee		1	31	31	0
	Tent rental from R		2	100	200	0
	Peanuts		2	1.5	3	0
	Raisins		2	1.5	3	0
	Pretzels		1	1.5	1.5	0
	cereal		2	1.5	3	0
	chocolate chips		1	1.5	1.5	0
	marshmallows		2	2.5	5	0
	graham crackers		2	2.5	5	0
	hershey's bulk par		3	5	15	0
	tortillas		1	1.5	1.5	0
	refried beans		2	3	6	0
	cheese		2	1.5	3	0
	lettuce head		1	1	1	0
	rice-a-roni		3	2.5	7.5	0
	salsa		3	2.5	7.5	0
	balba					
	corn chips		3	1.5	4.5	0

Bryn Mawr College Breakdance Crew

Contacts:

President: Emily Reuman ereuman@brynmawr.edu; (774) 249-3725 Treasurer: Kate Gettinger kgettinger@brynmawr.edu; (410) 917-3606

EVENT	ITEM	Quantity F	Price	Amount Requested
Practice in Philly		102	2000	
Spring Semester	SEPTA	36	\$5.00	
		12	\$5.00	\$120.00
Bboy/Bgirl Battle	Entrance Fee	2	\$15.00	\$30.00
Not yet assigned date				\$30.00
Lessons				
Spring Semester	Services and travel	2	\$40.00	\$40.00
SEMESTER TOTAL:				\$190.00

Members: 6

Practice: 5 days a week

Amount Granted

Budget for Burlesque Club

The purpose of the Burlesque Club is to create and perform burlesque. We will have one

Contact Information:

President Anne Ligon Harding Box C-193 1-302-584-3854 alharding@brynmawr.edu

Vice-President Caity McCarthy Box C-1014 cmccarthy@brynmawr.edu

Treasurer Rebecca Pisciotta Rebecca Pisciotta rpisciotta@brynmawr.edu Box C-1166 (646)207-3959

Campus-Wide Events

Event

Burlesque Semester Performance Date: TBA

The event will be held in mid-April in TGH, with an expected audience of 100 people.

Soda 2-liter bottle
Pack of Plastic Martini Glasses
Veggie tray
Light and Sound Technician
Fabric for Costumes
Beads for Costumes

Club Internal Events

Event

Visiting instructor

An instructor will be coming in from Philadelphia to help us with our developing routines and to offer her feedback.

Instruction Fee + Transportation

Semester Total

College Democrats

Contacts:

President: Name, Email, Phone- Anne Kauth, akauth@brynmawr.edu, 651-324-6476 Secretary: Name, Email, Phone- Katherine Dahl, kdahl@brynmawr.edu, 206-715-1369

Treasurer: Name, Email, Phone- Laura Gousha, Igousha@brynmawr.edu, 443-600-6789, Box Number C-174

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Letter Writing Campaigns					
Monthly, ongoing activity	Snacks		\$25.00	\$25.00	10
	Packs of stamps	3	\$10.00	\$30.00	20
	Event Total		\$35.00	\$35.00	
CDA Event, HPV Awareness	Campus Campaign				
March	Campaign Advertising Supplies		\$20.00	\$20.00	15
	Candy for tabling		\$10.00	\$10.00	10
	Cupcake mix, charity benefit		\$15.00	\$15.00	
	Lunch/gift for guest speaker		\$10.00	\$10.00	
	Event Total		\$55.00	\$55.00	
State of the Union Night					
Dems Sponsored Campus-wid	e event				
February	Snacks- chips, cookies, etc.		\$30.00	\$30.00	20
	Drinks	4	\$1.50	\$6.00	0
	Event Total		\$36.00	\$36.00	
Trip to DC to visit Congressi	onal Official, 8 club members				
April	College Van Rental	1	\$20.00	\$20.00	20
	Mileage (280 miles roundtrip x.5	9	\$165.00	\$165.00	
	Parking		\$20.00		20
	Metro Tickets	8	\$5.00	THE RESERVE AND ADDRESS OF THE PERSON NAMED IN	
		8		THE RESERVE AND ADDRESS OF THE PERSON NAMED IN	

	Event Total		\$245.00	
Vagina Monologues, cl	ub requested funding			STULE
February	Event Funding, related expenses	\$100.00	\$100.00	
	Event Total	\$100.00	\$100.00	
SEMESTER TOTAL:	CHE SELECT PROPERTY		\$471.00	200

Class of 2009

Contacts:

Co-President: Trina Banerji, tbanerji@brynmawr.edu, (908)-656-1759 Co-President: Deepjyot Singh, dsingh@brynmawr.edu, (937)-624-3159

EVENT		ITEM I	uantil	Price To	otal Needed	Total Awarded
Senior Cocktails-SENIORitas	answer interven	The second secon		7.048.000	69,088,09	000000000
	6-Feb-09	Fiesta Serving Dishes	1	\$10.00	\$10.00	\$10.00
		Margarita Glasses	5	\$20.00	\$60.00	\$60.00
		Blow Up Cactus Cooler	2	\$20.00	\$20.00	\$20.00
		Limbo Kit	1	\$10.00	\$10.00	\$10.00
		Sombrero Cooler	1	\$5.00	\$5.00	\$5.00
		Margartia Lights	1	\$8.00	\$8.00	\$8.00
		Rainbow Balloon Lanterns	1	\$10.00	\$10.00	\$10.00
		Fiesta Table Runners	2	\$5.00	\$5.00	\$5.00
		Regular Balloons	24	\$27.00	\$27.00	\$27.00
		Blender	3	\$34.99	\$105.00	\$5.00
		Chips	4	\$5.00	\$20.00	\$20.00
		Salsa	10	\$4.00	\$40.00	\$40.00
		Small Plates	2	\$10.00	\$20.00	\$20.00
		Sprite	5	\$2.00	\$10.00	\$10.00
		Margarita Mix	30	\$5.00	\$150.00	\$150.00
		DJ	1	\$150.00	\$150.00	\$150.00
				0.0537538500035	18.000000000	10202000
					\$650.00	
Senior Cocktails-Funded by Ser	nior Gift 26-Mar-09		- 11		\$0.00	\$0.00

							eritation to	
enior Cocktai	ils- Grown Up Cock		8540 029 Vo 07		12022020	0.5333333	20022000	
		17-Apr-09	Gillian Grassie-music	1	\$150.00	\$150.00	\$150.00	
		BMC	CDS Catering Hors d'oeuvres					
			Meatballs	1	\$48.00	\$48.00	\$0.00	
			Pork Dumplings	1	\$48.00	\$48.00	\$0.00	
			Chicken Satay	1	\$63.00	\$63.00	\$0.00	
			Mini Crab Cake	1	\$60.00	\$60.00	\$0.00	
			Vegetable Spring Rolls	1	\$54.00	\$54.00	\$0.00	
			Bruschetta	1	\$48.00	\$48.00	\$0.00	
			Black Bean Quesadilla	1	\$54.00	\$54.00	\$0.00	
			Pear and Chevre Crostini	1	\$54.00	\$54.00	\$0.00	
		Nap	kins	10	\$3.00	\$30.00	\$0.00	
		- 337	Mixers for Full Bar	2200	\$60.	\$60.00	\$0.00	
						\$669.00	\$400.00	
						000000000	100000000000000000000000000000000000000	
Senior Cockt	ails- Rang the Bell F	Party/Come						
	mine trees. If min mant t	dityroomo						
	take a Shot	artyroome						
		9-May-09	Dixie Cups	3	\$15.00	\$45.00	\$45.00	
			Dixie Cups Balloons + Delivery	3 40	\$15.00 \$1.25	\$45.00 \$55.00	\$45.00 \$55.00	
					\$1.25			
			Balloons + Delivery	40		\$55.00 \$6.00	\$55.00	
			Balloons + Delivery	40	\$1.25	\$55.00	\$55.00	
			Balloons + Delivery	40	\$1.25	\$55.00 \$6.00	\$55.00	
			Balloons + Delivery	40	\$1.25	\$55.00 \$6.00	\$55.00	
			Balloons + Delivery	40	\$1.25	\$55.00 \$6.00	\$55.00	
		9-May-09	Balloons + Delivery Table Cloth	40 2	\$1.25 \$3.00	\$55.00 \$6.00 \$106.00	\$55.00 \$6.00	
		9-May-09	Balloons + Delivery Table Cloth	40 2 150 150	\$1.25 \$3.00 \$500.00	\$55.00 \$6.00 \$106.00 \$500.00	\$55.00 \$6.00 \$500.00	
		9-May-09	Balloons + Delivery Table Cloth BMCDS-Coffee & Bagel Six Flags Tickets	40 2 150 150	\$1.25 \$3.00 \$500.00 \$35.00 00+ 600 Gratuity	\$55.00 \$6.00 \$106.00 \$500.00 \$5,250.00	\$55.00 \$6.00 \$500.00 \$5,250.00 \$4,200.00	
		9-May-09	Balloons + Delivery Table Cloth BMCDS-Coffee & Bagel Six Flags Tickets Buses Office of the President	150 150 3 360	\$1.25 \$3.00 \$500.00 \$35.00 00+ 600 Gratuity	\$55.00 \$6.00 \$106.00 \$500.00 \$5,250.00 \$4,200.00	\$55.00 \$6.00 \$500.00 \$5,250.00 \$4,200.00	
		9-May-09 10-May-09 11-May-09	Balloons + Delivery Table Cloth BMCDS-Coffee & Bagel Six Flags Tickets Buses Office of the President Buses	40 2 150 150 3 360 5 460	\$1.25 \$3.00 \$500.00 \$35.00 00+ 600 Gratuity 0 + 700 Gratuity	\$55.00 \$6.00 \$106.00 \$500.00 \$5,250.00 \$4,200.00 PAID BY PRES PA	\$55.00 \$6.00 \$500.00 \$5,250.00 \$4,200.00 AID BY PRES \$5,300.00	
		9-May-09	Balloons + Delivery Table Cloth BMCDS-Coffee & Bagel Six Flags Tickets Buses Office of the President Buses Champagne Flutes	150 150 3 360 5 460 375	\$1.25 \$3.00 \$500.00 \$35.00 00+ 600 Gratuity	\$55.00 \$6.00 \$106.00 \$5,250.00 \$4,200.00 PAID BY PRES PA \$5,300.00 \$806.25	\$55.00 \$6.00 \$5,250.00 \$5,250.00 \$4,200.00 AID BY PRES \$5,300.00 \$806.25	
ienior Week		9-May-09 10-May-09 11-May-09	Balloons + Delivery Table Cloth BMCDS-Coffee & Bagel Six Flags Tickets Buses Office of the President Buses	40 2 150 150 3 360 5 460	\$1.25 \$3.00 \$500.00 \$35.00 00+ 600 Gratuity 0 + 700 Gratuity	\$55.00 \$6.00 \$106.00 \$500.00 \$5,250.00 \$4,200.00 PAID BY PRES PA	\$55.00 \$6.00 \$500.00 \$5,250.00 \$4,200.00 AID BY PRES \$5,300.00	

SEMESTER TOTAL:					\$40,375.00	\$39,562.25
Senior Week Total					\$38,950.00	
	14-May-09 Da	ve & Busters (tokens & buffet) Buses	150 3 36	00+ 600 Gratuity	\$4,200.00	\$4,200.00
	44 M 00 D-	Buses		00+ 600 Gratuity \$33.00	\$4,200.00 \$4,950.00	\$4,200.00 \$4,950.00
		Vango-deposit	150	\$500.00	\$500.00	\$500.00
	13-May-09	NorthBowl-2 hrs + dinner	150	\$4,450.00	\$4,450.00	\$4,450.00

Class of 2012 Activities

Contacts:

President: Liana Donahue, Idonahue@brynmawr.edu, (504) 251-3596 Member: Jessica Wong, jpwong@brynmawr.edu, (617) 599-0508

EVENT	ITEM	Price	Total Needed
Freshmen & Sophom February 12th	ore Class Speed "Friendship" Event		
	Food	varies	\$25.00
Valentine's Day Tea			
February 14th	Rental of Movie	\$5.00	\$5.00
	Decorations	varies	\$20.00
	Candy	varies	\$30.00
	Drinks	varies	\$30.00
	Popcorn	\$2.00	\$10.00
Freshmen & Junior C	lass Dinner		
Late March	Publicity	\$0.50	\$5.00
Community Service In	nfo Session		
Early April	Publicity	\$0.50	\$5.00
"We are Sophomores	Now" Celebration		
Early May	Publicity	\$0.50	\$5.00
2000 TO 110	Drinks	\$0.50	\$30.00
	Ice Cream & Cake	varies	\$50.00
	Decorations	varies	\$10.00

Semester Total:

\$225

Total Awarded

\$25.00

\$0.00 \$20.00 \$30.00 \$30.00 \$10.00

\$0.00

\$0.00

\$0.00 \$30.00 \$50.00 \$10.00

\$205.00

GH-Trust

Dollars.

- 1 (c)

19 1/2

SELECT LOOKE

1111

Choom Boom Asian Dance Group

Contacts:

Co-Presidents: Nancy Shumsin nshumsin@brynmawr.edu; (617) 595-1946

Jean Chung jchung01@brynmawr.edu; (650) 740-0913

Treasurer: Nancy Shumsin nshumsin@brynmawr.edu; (617) 595-1946

Number of Members: 8

Needs/Activities	Amount Requested	Amount Allocated
Showcase		
Advertisement (Flyers, Table Tents, Posters)	\$30	\$30
Food	\$200	\$100
Costumes		
Group T-shirts	\$150	\$0
Pants (Plus S+H)	\$200	\$100
Top (Plus S+H)	\$125	\$125
Accessories	\$50	\$25

SEMESTER TOTAL:

\$755

\$380

Curriculum Committee

Contacts:

President: Judith Barr, jebarr@brynmawr.edu, (202)577-4381

Secretary: Reggie Kukola, rkukola@brynmawr.edu Treasurer: Phaedra Tinder, ptinder@brynmawr.edu

EVENT	ITEM	Quantity
Credit/No Credit and Credentialing, oh my!		
Late February, 2009	Food (Assortment of snack food)	
This event, a campus-wide discussion about all	Beverages (Soda, fruit juice)	6
things curricular, will be modeled after forums held	Publicity (Flyers, photocopying)	30
in past years. We are budgeting for 70+ attendees	Paper goods (cups, napkins)	4 packs
	Posters- interactive stations for students to discuss their ideas and complaints	4
	Markers/pens- to replace old committee set	1 pack
Committe	e some constant	30.000.0000
What is a Bryn Mawr Education?	A SAME THE PARTY.	
Late April, 2009		
Like the earlier event, this one will be an open	Food (Assortment of snack food)	
campus discussion in conjunction with the	Beverages (Soda, fruit juice)	6
Curricular Renewal Committee, a faculty-student	Publicity (Flyers, photocopying)	30
group. Same 70+ attendee goal.	Paper goods (cups, napkins)	4 packs
	Posters- interactive stations for students to discuss their ideas and complaints	4
The state of the s		

For School and

totalistic operator as

DISCUSS thank home

redentialing, oh myt

SEMESTER TOTAL: duchtion?

Price	Total Needed	Total Awarded
\$90.00	\$90.00	45
\$3.00	\$18.00	18
\$0.10	\$3.00	3
\$2.00	\$8.00	8
\$1.00	\$4.00	4
\$4.00	\$4.00	4
\$90.00	\$90.00	45
\$3.00		8
\$0.10	\$3.00	3
\$2.00	\$8.00	8
\$1.00	\$4.00	
	111111111111111111111111111111111111111	one winded,

\$250.00 150

a market was a part of the second

The state of the s

Club Name: "Double Star"

"President" (Fearless Leader): Amanda Pester

Phone Number: 434-334-1883 Email: apester@brynmawr.edu

"Vice Presicent/Treasurer" (Lackie): Catrina Mueller

Phone Number: 610-331-7792 Email: cmmueller@brynmawr.edu-

Event	Item	Price		Total Amount Requested	Total Amount Budgeted
					MANAGE WAR
Monthly					
Marathons					
A Weekend Tea	Snacks for Monthly				
in Feb., March,					
April, & May	\$20)		\$80		
				\$80	\$60.00
Holiday Tea Saturday Jan.					
31st	Jan Waldern and State Control		0.74		
	Snacks/Drinks		\$40		
				\$40	\$0.00
Hell Week Tea					
	Snacks/Drinks				
	3005-00-7-00-0000		\$30		
	Paper Cups/Plates/etc.				
			\$15		
May Day Too				\$45	\$45.00
May Day Tea	Snacks/Drinks				
			\$30		
				\$30	\$30.00
T-Shirt Tea	**************************************				
	T-Shirt Making Supplies		\$40		
			540	\$40	\$0.00
Meeting					
Frequency	Once per week plus severa	l weekend day	teas		
# of Members:		25			

\$235 \$135.00

Equestrian Team

Contacts:

President: Aly Honsa, ahonsa@brynmawr.edu, 917-656-6110 Treasurer: Sarah Maley, smaley@brynmawr.edu, 203-824-1152 Treasurer: Alex Gaudette, agaudette@brynmawr.edu, 248-760-3482

EVENT

ITEM

Quantity Price

Total Needed

Riding Lessons

All Semester

40 Riders

\$12.50 per lesson \$5,000.00

10 Lessons each

8

Transportation Costs

All Semester

Gas per trip

\$6 per drive

\$480.00

10 Lessons

8 Drivers

Showing

Feb. 8, Feb. 22, Mar. 8

10 Riders

\$45 per rider

\$450.00

SEMESTER TOTAL:

\$5,930.00

Total Awarded

3200

300

0

3500

1 - 1 - 1+

...

Carlo and and

FACTS Tutoring

Contacts:

President: Stephanie Smith ssmith@brynmawr.edu; (617) 905-4417 Treasurer: Katherine Fung kfung@brynmawr.edu; (646) 258-6784

Event	ITEM	Quantity	Price	Total Needed	Total Awarded
Background clearance forms	Child abuse clearance and criminal background check	14 forms	\$140.00	\$140.00	
SEMESTER TOTAL:					

Bryn Mawr Folk Club

Contacts:

President: Laura Kelly-Bowditch, lkellybowd@brynmawr.edu, 781-454-6421

Secretary: Emilia Marcyk, emarcyk@brynmawr.edu,

Treasurer: Maureen Hoffmann, mhoffmann@brynmawr.edu, 610-952-8065, C-859

EVENT	ITEM	Quantity	Price	Total Needed
Contra #1				
Late Feb/Mid March	Band	1	\$400.00	\$400.00
	Caller	1	\$100.00	\$100.00
	Refreshments		\$30.00	\$30.00
Contra #2				
Early to Mid April	Band	1	\$400.00	\$400.00
	Caller	1	\$100.00	\$100.00
	Refreshments		\$30.00	
Concert				
Early April	Band	2	\$200.00	\$400.00
	Advertising	_	\$10.00	
Glenside Dance Trip	Transportation (~45mi roundtrip)	1	\$20+\$1/mi	\$65.00
30	Maria Maria			
Folk Sing	Song Books	2	\$22.00	\$44.00
SEMESTER TOTAL:				\$1,579.00

Total Awarded

\$350.00 \$100.00 \$20.00

> \$0.00 \$0.00 \$0.00

\$325.00 \$5.00

\$0.00

\$0.00

\$800.00

Budget for the Bryn Mawr Fencing Club Fall 2008

The purpose of Bryn Mawr's fencing club is too learn and practice the sport of fencing and to grow that sport on Bryn Mawr's campus (particularly since there is no longer a fencing class offered by the Athletics Department). We work with all skill levels and are building a core of competitive fencers while providing a supportive environment for new fencers.

Contact Information:

Co-President Alexandra Dowery Box C-637 Cell: (1-716) 913-9134 adowery@brynmawr.edu

Co-President Rachel Goddard Box C-165 Cell: (1-646) 248-9508 rgoddard@brynmawr.edu

Treasurer Michelle Crepeau Box C-100 Cell: (1-207) 939-5729 mcrepeau@brynmawr.edu

	Quantity	Am	ount Requested	Amount	Budgeted
Needed Services					
Coaching Fees					
To pay for the expertise and guidance of Coach Arhen Lalonde, necessary for our club to improve competively and continue in our capacity as a replacement for the Fencing Class formerly offered by Athletics.					
Fees		\$	637.50	\$	637.50
Total		\$	637.50		
Equipment					
3 Advanced Electric Épées					
To prepare our club's épée fencers both present and future for tournament level competition through the use of electric equipment.					
Quantity	3				
Price		\$	252.00		
5% Shipping and Handling Fee		\$	264.60		
Total		\$	264.60	s	15

Storage

IKEA Pax Storage Wardrobe
To better store and maintain the integrity and security of our
club-owned assets (e.g. communal equipment)

Quantity	1				
Price		\$	240.00	s	120.00
5% Shipping and Handling Fee			N/A		N/A
Total		\$	240.00		
Komploment Clothes Rack and Wire Shelf To construct more efficient and abundant storage options for					
Quantity	1				
Price		\$	110.00	\$	
5% Shipping and Handling Fee			N/A		N/A
Total		\$	110.00		
Amorist Hardware and Maintenance Equipment To better maintain the quality and consistency of safety and function in both pre-existing and future club equipment (weaponry, box and reels, etc.).					
Total		s	100.00	\$	
Total		\$	1,339.50	\$	757.50

Bryn Mawr College Greens

Contacts:

President: Emily Reuman ereuman@brynmawr.edu; (774) 249-3725 Secretary: Melanie Bowman mbowman@brynmawr.edu; (925) 389-8229

EVENT	ITEM	Quantity P	rice	Amount Requested
Cambrian Row Flower Garden Spring Semester	Seeds	5	\$5.00	\$25.00 \$25.00
Student Vegetable Garden Spring Semester	Seed Packets	8	\$5.00	\$40.00 \$40.00
Power Shift Conference				N CONTRACTOR
Feb. 28- March 1	Registration Fees	4	\$60.00	
Feb. 20- March 1	SEPTA	8	\$5.00	
	Greyhound	Group	\$90.00	
	Hotel	Group	\$130.00	(i) - V(1) - V - D - D - D - D - D - D - D - D - D
Construction of the Programme of the Construction of the Construct	Hotel Subway Subwa Subway Subway Subway Subwa Subway Subway Subway Subway Subway Subwa Subway Subway Subway Subwa Subway Subwa S	8229	\$1.50	\$12.00 \$512.00
	- 144			
Energy Diet- Printing		1	\$10.00	\$10.00
February	Flier and poster materials	1	\$200.00	
	Energy Diet Prize		Q 200.0.	\$210.00
Earth Day Tea				250.00
April 22nd	Cookies and drinks for 15 ppl Seed Packets	8	\$50.00	\$50.00 \$50.00
End of Year Par-Tea	Desserts for 20 ppl		\$50.0	
End of Year Par-Yea				\$50.00
T-Shirts	Total for Earth Day	20	\$5	\$100
Week of April 22nd	T-shirts for Earth Day	20	5750	\$100
	Subway	300_ H	4	*****
Movie Night	Snacks		\$50.00	s Samerago
March				\$50.00
	and and France			
				\$973.00
SEMESTER TOTAL:	Cookies and drinks for 15 ppi		1000	
	Coopies and dising to be.			4 1

Members: 40 Meet: Weekly, Wednesday 7pm

and the second complete language conservation of the second conservation of

Amount Approved

\$25.00

\$40.00

\$0.00 \$0.00 \$0.00 \$0.00 \$0.00

\$10.00 \$200.00

\$50.00

\$50.00

\$100

\$50.00

\$525.00

Harvest Christian Fellowship

Contacts:

President: Erica Lo, elo@brynmawr.edu, 225 938 0649

Secretary: Jenny Lum, jlum@brynmawr.edu

Treasurer: Danielle Pan, dpan@brynmawr.edu, 917 628 7954

EVENT	ITEM	Quantity F	Price	Total Needed	Total Awarded
Veritas Forum					
2-	Apr-09 Honorarium	1	\$600.00		500
	Travel for Speaker	1	\$550.00		450
	Publicity	1	\$100.00		50
	Lodging	1	\$150.00		120
	Catering	1	\$150.00		50
Weekly Meetings e.g. Sur Year Round	Transportation \$20 + (\$1.00*35) Community Outreach	s, Saturday 1	\$400.00 \$200.00	-	300 100
Grace Covenant Church January 30-February 1	Retreat Registration		\$300.00		180
danuary out editidity i	Transportation (\$20*3)+(\$1*140)		\$200.00		150
	110113/01100011 (920 0)*(91 140)		42.00.00		100

SEMESTER TOTAL:

\$2,650.00

18/

Hula Club

Contacts:Colette Young, Sarah Maley, Bethany Azuma
President:Colette Young, cyoung@brynmawr.edu, 1(240) 277-1407
Secretary: Sarah Maley, smaley@brynmawr.edu, (203) 824-1152
Treasurer: Bethany Azuma, bazuma@brynmawr.edu, 630-388-8548

EVENT	ITEM	Quantity F	rice	Total Needed
Cherry Blossom Festival March 28 to April 12, 2009 TBA	8 person van	2	\$340.00	\$680.00

\$50.00 \$0.00	\$25.00	2	Curling Iron	Performances All semsester
\$0.00				
\$0.00				
			диниционунальник.euu, 1/30-3/15-5/14o	

Quantity Price

SEMESTER TOTAL:

\$730.00

Total Awarded

\$350

\$0

\$350

IMPACT

Contacts:

President: Mithila Rajagopal, mrajagopal@brynmawr.edu, 530-574-1925 Secretary: Emily Johnson, ejohnson@brynmawr.edu, 802-316-7910

EVENT	ITEM	Quantity F	Price	Total Needed
Speaker: Geeta Mehta				
March 15th (Tentative)	Train Ticket Amtrak	1 (roundtrip)	\$80.00	Ď.
	Coloured Posters for Publicity	5	\$10.00	ř.
				\$90.00
Coffe and Music Night				
April 17th (Tentative)	Coloured Posters for Publicity	15	\$25.00	\$25.00
International Justice Week				
March 29th-April 5th	Printing Photos for Poster Board	25	\$20.00	
	Materials for main event		\$10.00	
				\$30.00
Grant in Support of Research				
To Vanessa Singh	Gift Certificates to support interest in survey for microfinance research		\$50.00	\$50.00
SEMESTER TOTAL:				\$195.00

Total Awarded

\$80.00

\$5.00

\$0.00

\$25.00

\$110.00

INTERVARSITY CHRISTIAN FELLOWSHIP

President: Jillian Brown, Sarah Tabi

Treasurer: Tinu Akinfolarin

jbrown, stabi takinfolar

ACTIVITIES	AMOUNT REQUESTED	AMOUNT BUDGETED
Large Group (Open to the entire campus) Speakers (4x75)	\$300.00	\$150,00
TOTAL	\$300.00	
Events Fun Hell Week Night Alternative	\$75	\$30
TOTAL	\$75.00	
RETREATS Chapter Camp Scholarships (200 X10) Transportation (Gas) Jesus Justice and the Poor (2x 20 +10 transportation) TOTAL	\$2,000.00 \$75.00 \$50.00 \$2,125.00	\$1,300.00 \$0.00 \$50.00
Other Events (Open to entire campus)		
Proxe Station (poster board, paints, artists.) Senior Night Movie Night Small Group	\$200.00 \$60.00 \$40.00 \$50.00	
TOTAL	\$350.00	\$100.00
GRANDE TOTAL	\$2,850	\$1,630.00

The Bryn Mawr Intervarsity Christian Fellowship is a group whose main aim is to see to the spiritual and social enrichment of the Christian community at Bryn Mawr.

We are a group of about thirty-five women. We meet every Wednesday (Large Group) to worship together and listen to relevant and topical talks and presentations. We also meet during the week for Bible studies. We attend retreats and conferences with our tri-co counterparts.

All events are open to the entire campus.

Club Italiano

Contacts:

President: Janna Weaver, jweaver@brynmawr.edu, 919-616-8004 Secretary: Pritika Gupta, pgupta@haverford.edu, 484-557-3977 Treasurer: Valeria Pizzini, vpizzini@brynmawr.edu, 484-868-8577

EVENT	ITEM	Quantity F	Price	Total Needed	Total Awarded
1 Night of Festive Italian Games March 2009	ream of card stock for game car	1	\$12.99	\$12.99	12.99
An evening of games and Italian	markers	20	\$1.00	\$20.00	0
customs. Members will learn about traditional pastimes in Italy	cheese plate	2	\$20.00	\$40.00	40
and sample typical foods.	meat plate Italian soda Italian bread	2 8 4	\$20.00 \$3.00 \$6.00	\$24.00	18
2 Visit to Italian Market April 2009 Members will travel to Philadelphia Italian Market for exposure to local Italian	SEPTA tickets	20	\$4.75	\$95.00	56
SEMESTER TOTAL:				\$255.99	158.99

Kaleidoscope Literary and Arts Magazine

Contacts:

President: Nicole Gervasio, ngervasio@brynmawr.edu, 609-433-6716, C-159 Secretary: Noelle Fair, Nfair@brynmawr.edu, 267-614-2704, BOX - C-129 Treasurer: Marium Sattar, Msattar@brynmawr.edu, 267 241 6980, BOX C-1239

EVENT	ITEM	Quantity	Pric	e	То	tal Neer To	otal Awarded
Publication of 300 M	agazines						
April 20th	Digital Color Prints for 52 pages	26 sheets		\$0.40	4	\$150.00	150
	Binding - Staples	.02 per staple for 300 booklets		\$0.02		\$6.00	6
	Finishing Service - Booklet	.50 per booklet		\$0.50		\$0.50	0.5
	Copy Center Payment	20% fee to Copy Center for 300 booklets					
	300 copies	\$11 per copy for 300 booklets				\$3,300	1265
		115					
Release Party							
April 25th	Soda	3	\$	2.00		\$6	6
C	Chips	3	\$	5.00	\$	15.00	15
	Acme Chocolate Cake	2	\$	9.00	\$	18.00	18
	Napkins/plates	2	\$	5.00	\$	10.00	10
Publicity							
February 1st	Colour Print-Outs From Guild	20 @ .50 per copy		\$10.00		\$10.00	10
SEMESTER TOTAL:					\$3	3,515.50	1480.5

Knitting CLUB

Contacts:

President: Rebecca Rebhuhn-Glanz, rrebhuhngl@brynmawr.edu, 732-801-4063

Treasurer: Anne George-Hallgren, ageorgehal@brynmawr.edu, 612-308-6606

EVENT	ITEM	Quantity	Price	Total Needed
Knitting Supplies				
All Semester, to be purch	hased soc Stitch 'N Bitch: The Happy Hooker (Book	1	\$15.00	\$15.00
	Super Stitches Knitting (Book)	1	\$19.95	\$19.95
	Wool of the Andes Yarn	10	\$2.19	\$21.90
	Wool of the Andes Bulky Yarn	5	\$3.99	\$19.95
	Sock Yarn	6	\$4.99	\$29.94
	Shamrock Worsted Yarn	6	\$2.79	\$16.74
	Circular Needles	2	\$6.99	\$27.96
End of Semester Tea				
TBA, near the end of the	semester Food/Drink/Napkins	1	\$20.00	\$20.00

SEMESTER TOTAL:

\$171.44

Total Awarded

15 0 21.9 19.95 0 16.74 13.98

10

97.57

Lavender's Blue budget spring 2009

Lavender's Blue is an a cappella group which sings "oldies". We plan to continue recording our third CD; we will also perform several times on campus this semester. We have 12 members and meet 2-3 times a week.

Contacts:

President: Naomi Hamermesh

302-367-5877

C-188

nhamermesh@brynmawr.edu

Treasurer: Katharine Woolls

818-795-4649

C-1473

kwoolls@brynmawr.edu

Business Manager: Amanda Darby 301-471-1554 adarby@brynmawr.edu

EVENT	ITEM	Quantity Price	Total Needed	Total Awarded
Recording-Milkboy Studios Date: 4/18/09 Lavender's Blue will be recording during the semester at Milkboy Studios. They charge \$85/hour, and we plan to record for 5 hours.	Item 1: Professional Recording	5 hours \$85/hour	\$425.00	\$320.00
Tour Dates: approx. 3/6/09-3/9/09 Lavender's Blue will be touring for the first weekend of spring break. We will be taking three cars and would like to be reimbursed for gas and tolls.	Item 1: Travel Expenses Note: Last spring we budgeted for \$200 and found that was not sufficient to cover travel costs.		\$300.00	\$120.00
Website Date: n/a We are hiring a professional web designer to create a website. This will be beneficial for publicity purposes. The budgeted money is both to pay the designer and	Item 1; Web design	1	\$100.00	\$0.00
the web maintenance fees. Hospitality for Guest Groups Date: n/a We plan on having an a cappella group from another school sing with us at an on campus concert during the semester. We would like to provide them with food as well as partially reimburse them	Item 1: Food/Gas Money		\$50.00	\$0.00
for gas and tolls. SEMESTER TOTAL:			\$875.00	\$440.00

Bryn Mawr Mayuri Dance Team

Contacts:

Co-Presidents: Rina Mehta mehta@brynmawr.edu; (484) 597-6372

Kate Michelson kmichelson@brynmawr.edu; (650) 740-0913

Treasurer: Nancy Shumsin nshumsin@brynmawr.edu; (617) 595-1946

Number of Members: 10

Needs/Activities	Amount Requested	Amount Allocated
Showcase		
Advertisement (Flyers, Table Tents, Posters)	\$30	\$30
Food	\$300	\$200
Audio	\$150	\$100
Decorations	\$100	\$100
Costumes		
Pants (Plus S+H)	\$200	\$200
Top (Plus S+H)	\$125	\$105
Accessories	\$50	\$0
Travel Expenses to NYC (For 10)		
Train/Bus/Gas	\$100	\$0
Hotel Room	\$350	\$0
Senior Gifts	\$80	\$0
Publicty (Auditions)		
Flyers	\$15	\$0
SEMESTER TOTAL:	\$1,500	\$735

Multi-Faith Running Initiative

Contacts: Angana Roy

President: Name, Email, Phone: Sarah Khasawinah, sarah.khasawinah@gmail.com, 610-526-5711

Secretary: Name, Email, Phone:

Treasurer: Name, Email, Phone Angana Roy, aroy@brynmawr.e 781-974-4962

EVENT	ITEM	Quantity Price	ce Total Needed
MSA Thank You Dinner February 13th, 2009	pasta sauce vegetables fruit chicken	3 2 3 7 2	10 30 \$6.00 \$12.00 \$6.00 \$18.00 \$4.00 \$28.00 \$11.00 \$22.00
Run to Hope's Cookies March 10th, 2009	cookies	35	\$0.85 \$29.75
Run in Fairmount Park March 21st, 2009	train & bus tickects	10	\$6.25 \$62.50
Weekly Runs	reflective vests	15	\$4.95 \$83.25
SEMESTER TOTAL:	\$285	5.50	

Total Awarded

\$50.00

\$0.00

\$31.25

\$83.25

\$164.50

Mural Club

Contacts:

President: Jessica Engelman, jengelman@brynmawr.edu, 719-641-9570, C-669

Secretary: Ariel Rosenstock, arosenstoc@brynmawr.edu

Treasurer: Pamela Burt, pburt@brynmawr.edu

CATEGORY	ITEM	Quantity	Price	Amount Awarded
Canvas	Art Cambric	3' x 5'	\$30.00	\$30.00
	Canvas Tarp	6' x 10'	\$20.00	\$0.00
Paint	White Latex/Primer	1 can	\$8.00	\$0.00
	Six-Pack Student Acrylics	2 packs	\$44.00	\$22.00
	Liquitex Acrylics	8 tubes	\$36.00	\$36.00
Etc.	Assorted Brushes	1 set	\$25.00	\$0.00
	Origami Paper	1 set	\$6.00	\$0.00
	Sponges	2 packs	\$6.00	\$0.00
	Masking Tape	3 rolls	\$8.00	\$0.00
	Paint Tray	1	\$5.00	\$0.00
	Transparancies	1 pack	\$4.00	\$0.00
	Tin Foil	1	\$3.00	\$0.00
	Cellophane Paper	1 pack	\$10.00	\$0.00
	Grommet Kit	1	\$8.00	\$0.00
	Butcher Paper	1 roll	\$15.00	\$15.00
	Soft Pastel Chalk	1 set	\$20.00	\$20.00
SEMESTER TOTAL:			\$248.00	\$123.00

Muslim Students Association

Contacts:

President: Sabra Bhat, sbhat@brynmawr.edu, 908-887-2560

Vice President: Michelle Khilji, mkhilji@brynmawr.edu, 571-215-0933

Secretary: no secretary

Treasurer: (Haverford) Edin Fako, efako@haverford.edu, 203-919-0247

EVENT	ITEM	Quantity Pr	ice
Philly Outing			
5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Dinner	20	\$25.00
	SEPTA Tickets	20	\$8.00
New Muslim Cool presentation (co-sponsor with ALAS)			
A 1 () A 1 (Publicity		\$50.00
	Catered dinner fro	om Dining St	\$300.00
Palestinian Culture Night (co-sponsored with Students for Justice in Palestine)	n		
	Palestinian		
	Music Group		\$300.00
	Group Transporta	tion	\$100.00
	Publicity		\$50.00
	Catering		\$250.00
Senior Farewell Party	-		
100 top one access = 100 to 0.000 to 0.0000 to	Food (pizza, soda	, cake,etc.)	\$200.00
	Senior Gifts	10	\$30.00

SEMESTER TOTAL:

Total Needed Total Awarded

\$500.00	\$0.00
\$160.00	\$0.00
\$50.00	\$0.00
\$300.00	\$200.00
\$300.00	\$300.00
\$100.00	\$100.00
\$50.00	\$0.00
\$250.00	\$250.00
\$200.00	\$200.00
\$300.00	\$300.00

\$2,210.00 \$	1,350.00

Newman Catholic Campus Ministry

Contacts:

President: Katherine Sepulveda; ksepulveda@brynmawr.edu Vice President: Danielle DiCiero; ddiciero@brynmawr.edu

Treasurer: Margaret Summerfield; msummerfie@brynmawr.edu; (914) 310-4772

EVENT	ITEM	Quantity I	Price	Total Needed
Shrove Tuesday Baking	butter	1 tub	\$3.00	\$45.00
Tues., Feb. 24	milk	1/2 gallon	\$3.00	
	pancake mix	1 box	\$5.00	
	syrup	2 bottles	\$6.00	
	eggs	1 box	\$3.00	
	bananas	2 bunches	\$4.00	
	strawberries	1 box	\$5.00	
	soda/juice	3 bottles	\$6.00	
Contract Con	n chocolate Chipsm DUS	Will Libag	\$4.00	
TWO PERIODS	whipped cream	1 bottle	\$3.00	
	sprinkles	1 box	\$3.00	
Senior Send-Off Party	chips	3 bags	\$12.00	\$127.00
Sun., May 10	juice/soda	3 bottles	\$6.00	
	cake	1 cake	\$25.00	
	fruit platter	2 platters	\$24.00	
	pizza	2 pies	\$40.00	
Easter Party	hutter eggs	2 boxes	\$6.00	\$205.00
Sun., Apr. 12	plastic eggs	2 bags	\$6.00	4200.00
	candy	3 bags	\$15.00	
	egg-dyeing kits	4 boxes	\$12.00	
	hot-cross buns	4 boxes	\$20.00	
	tablecloths	5	\$15.00	
	plastic cutlery	3 boxes	\$15.00	
	paper plates	2 packs	\$8.00	
	plastic cups "DS	2 packs	\$8.00	
	pizza pizza	5 ples	\$100.00	
Dinner in Bryn Mawr Fri., Mar. 27	dinner at restaurant	8 people	\$150.00	\$150.00
St. Patrick's Day Movie	chips	2 bags	\$8.00	\$21.00
Thurs., Mar. 19	soda	2 bottles	\$8.00	
values and # costsolities	movie rental	1 movie	\$5.00	
Veritas Forum	payment for speaker	1 speaker	\$75.00	\$75.00
SEMESTER TOTAL:	-37			\$623.00

piastic cups pizza

5 pies \$100.00

Total Awarded

\$39.00

\$89.00

\$124.00

\$0.00

\$0.00

\$75.00

\$327.00

ONE WORLD BUDGET SPRING 2009

One World is a left-leaning activist group attempting to make a difference in the world. Previous events include the annual SOA Protest in Georgia and United Students Against Sweatshops Bryn Mawr Bookstore Project.

EVENT/ITEM

AMOUNT REQUESTE AMOUNT RECEIVED

Cosponsoring Vagina

Monologues \$100

\$100.00

With Athletic Association, BMC Republicans, BMC Democrats, Women's Center

United Students Against

Sweatshops Designated

\$250

\$200.00

Suppliers Program

Reaffirms that all apparel sold at the bookshop is from factories that allow workers to unionize.

Cosponsoring Charity Dinner for Gaza

With Students for Justice in Palestine

Printing for the dinner's program	\$15	\$0.00
Desserts from Maccabeam Restaurant	\$56	\$0.00
Printing for advertising for the dinner	\$20	\$0.00

General Project Money	\$50	\$50.00

One World is a club that exists a s a space for people with projects or ideas around activist issues, many times these are projects that we cannot plan. We are asking for SGA to allow us to budget \$50 for money for these projects.

TOTAL \$491 \$350.00

One World meets weekly. There are curently 10 members.

Co-President: Amelie Raz

Co-President: Adrienne Webl Treasurer: Lauren Russell

Box C-826

Box C-320

Box C-731

610-357-3355

412-983-9363

908-500-2136

araz@brynmawr.edu

awebb01@brynmawr.edu

Irussell@brynmawr.edu

People IN Color

Contacts:

President: Megan Smith, mjsmith@brynmawr.edu, 856-371-6707 C-603 Secretary: Sundes Kazmir, skazmir@brynmawr.edu, 201-647-2307 C-1200 Treasurer: Nithya Vasudevan, nvasudevan@brynmawr.edu, 484-951-4641 C-774

Lily Mengesha, Imengesha@brynmawr.edu, 781-507-3234 C-294

EVENT	ITEM	Quantity F	Price
Workshop for Theater 3/15/2009	Props	10	\$10.00
	Pens, Pencils, Paper, Art Materials	50	\$1.00
	Invited Guest	1	\$150.00
	Food	40	\$3.00

People in Color Semester Showcase
4/24/2009 Props

 Props
 15
 \$10.00

 Set Design (Paint, Fabrics, Wood)
 1
 \$150.00

 Costumes
 12
 \$10.00

SEMESTER TOTAL:

H EM

Centra

ents, contails, Papar, annu-

Fodd ---

stor Showcase

Props

Set Design (Fond, Fabrich, v.

Total Needed Total Awarded \$100.00 \$0.00 \$50.00 \$0.00 \$150.00 \$0.00 \$120.00 \$0.00 \$150.00 \$150.00 \$150.00 \$150.00 \$120.00 \$120.00 \$840.00 \$420.00

and all and the second

Pre-Health Club

Contacts:

Treasurer: Dominique McKeever, E-mail: dmckeever@brynmawr.edu, Phone: (856) 371-3327, Box C1019

President: Rebecca Rothstein, E-mail: rrothstein@brynmawr.edu, Phone: (732) 277-9558, Box C1215

Events:	Items:	Quantity:	Price/iten T	otal Price Total	al Awarde
Alternative Route				ATTACK TO DEPART	
to Med School Post Bac Panel					
	Assorted Cookie Platter (2 lb)	rabasako 1	\$11199	\$11,99	4500
	Tea (box)	1	52,99	\$2.99	Manager Print
	Hot Chocolate	Total Park	\$4.99	\$4.99	4000
	Beverage Cups (Package of 50	2	\$1.39	\$2.78	
	Juice (1/2 gallon)	2	\$2.99	\$5.98	
	Milk (1/2 Gallon)	111111	\$3.99	\$3.99	
	Sugar	1	\$1.79	\$1.79	
	Paper Plates (Package of 46)	1	\$2.99	\$2.99	
**	Napkins (180 ct.) PABOS CHOL	1	\$0.99	\$0.99	
	Advertising		\$10.00	\$10.00	Secretary Secretary
Precidents Rehard	a Rothstein Frindictrothsteind	bryamawr.	etto, Phones		\$0.00
	9558 Bax C121	Salar Space	CONTROL LINES	A CHARLES OF THE PARTY OF THE P	
Temple Univeristy					
School of	1000000	Tuentity !	Price son 1		
MedicineNavy		1.7			
Scholarship	- 17	+			
Presentation	Boundarie Transportation BE		****	410.00	
	Roundtrip Transportation - R5		\$10.00	\$10.00	
	Assorted Cookie Platter (2 lb)		\$11.99	\$11.99	
	Tea (box)_come Platter (2 lb)	Contractor No.	\$2,99	\$2.99	600 L
	Hot Chocolate	AND THE P	\$4.99	\$4.99	CONTROL OF
	Beverage Cups (Package of 50	2	\$1.39	\$2.78	
	Juice (1/2 gallon)	2	\$2.99	\$5.98	
	Milk (1/2 Gallon)	1	\$3.99	\$3.99	
	Sugar	1	\$1.79	\$1.79	
	Paper Plates (Package of 46)	1	\$2.99	\$2.99	
	Napkins (180 ct.)	1	\$0.99	\$0.99	
	Advertising		\$10.00	\$10.00	
	The state of the s	descended to the	\$10.00	\$58.49	0
		A STATE OF THE PARTY.		dishi546,49	HAMP CHEST
Jefferson Medical School Visit	Action 1756	Printer Comment	Helian Salah La	THE REAL PROPERTY.	
	Roundtrip Transportation - R5 Informal Talk Over Lunch	10	\$10.00	\$100.00	
	with Med Student	11	\$8.00	\$88.00	
				\$188.00	188
	(a) sylvania in material in the		a there		
Stress Buster Tea	Chocolate Bars	4	\$2.99	\$11.96	
	BIAW DXRENE - TO THE REAL PROPERTY OF THE PARTY OF THE PA	months 34	\$1.99	\$3.98	Section and second
	Smartles Ups (Package of 50	3	\$2.499	\$4.98	
	Starbursts	2	\$3.19	\$6.38	
		-	40.20	40.00	

	Potato Chips (10 oz.)	2	\$3.99	\$7.98	
	Pretzels (10 oz.)	2	\$2.99	\$5.98	
	Vegetable Platter	1	\$9.99	\$9.99	
	Napkins (180 ct.)	emisto Inc	\$0.99	\$0.99	Automotive in the
A COMPACTOR OF THE	Coca-Cola (2-L)	. 2	\$1.50	\$3.00	
	Diet Coca-Cola (2-L)	1	\$1.50	\$1.50	Brending S. A.
	Sprite (2-L)	2	\$1.50	\$3.00	
	Plastic Beverage Cups	2	\$2.69	\$5.38	
	The second second			\$65.12	\$65.12
Ice Cream Partea	Vanilla Ice Cream	1	\$3.99	\$3.99	
	Chocolate Ice Cream	1	\$3.99	\$3.99	
	CC Cookie Dough Ice Crear	tradical.	\$3.99	\$3.99	
25.70	Mint CC Ice Cream	1401016	\$3.99	\$3.99	September of the second
	Chocolate Syrup	450 T	\$1.99	\$1.99	BURE 34
	Sprinkles	1	\$1.99	\$1.99	
	Whipped Cream	2	\$5.29	\$10.58	
	Cherries	1	\$3.19	\$3.19	
	Bowls (35 ct.)	1	\$2.99	\$2.99	
	Spoons (48 ct.)	1	\$1.29	\$1.29	
	Napkins (180 ct.)	1	\$0.99	\$0.99	
	TATA MADELLA MADE	1000	en per	\$38.98	\$38.98
Hell Free TeaV	- Printed the second	Selection	Severe America	more recovered to	national en
	Cheese Pizza (16,")	2	\$11,99	\$23.98	\$23.98
	Vegetarian Pizza (16 ")	1	\$15.99	\$15.99	
	Pepperoni Pizza (16 *)	1	\$15.99	\$15.99	
	Coca-Cola (2-L)	2	\$1.50	\$3.00	
	Diet Coca-Cola (2-L)	1	\$1.50	\$3.00	
	Sprite (2-L)	1	\$1.50	\$1.50	
	Plastic Beverage Cups (18	2	\$2.69	5.38	
	Napkins (180 ct.)	1	\$0.99	\$0.99	
	Paper Dinner Plates (32 ct.	one la	\$6.39	\$6.39	enterior in
	Checolate Syrup - A 1 10124	P. C.	481.99	\$76.22	7
Semester Total:			The second	\$475.30	\$316.08

The state of the s

and the second second second second

Chrese Pizza (16 ") Pizza (16 ")

Plates (32 ct.

PROJECT EDUCATE IN AFRICA (PEIA)

President: Tinu Akinfolarin/ Deborah Ahenkorah

takinfolar,dahenkorah

Treasurer: Maureen Waweru

mwaweru

ACTIVITIES	AMOUNT REQUESTED	Amount Given
End of the Semester Event	\$60	0
Speakers	\$150	150
Total	\$210	150

Pulso Latino Budget for Spring 2009

Contacts:

President: Tamarinda Barry Figueroa, tbarryfigu@brynmawr.edu, 908-477-7971

Secretary: Janna Clare Weaver, jweaver@brynmawr.edu, 919-616-8004

Treasurer: Laura Bryson, lbryson@brynmawr.edu, 408-799-7249

Expenses CLUB ACTIVITIES Food/Refreshments for Welcoming Party	Description of Expenses	Amount Requested
ricitorining varity	\$21.00 x 6 for pizza	\$126.00
Warm-up Clothing/Uniform	+/40 00 · 40 F4\ · 20	44 452 00
	\$(18.89 + 19.51) x 30	\$1,152.00
Salsa Show & Practical	de oo y so soundhin he	
	\$8.00 x 30 roundtrip to Philadelphia via R5 \$5.00/person x 30 for	\$240.00
	half-cost of admission	\$150.00
DANCE SHOWCASE @ HC Costumes		
	\$40.00/person x 30	\$1,200.00
Publicity	\$100.00 x 2 for package	
Dry Cleaning		\$200.00
Dry Cleaning	\$15.00 x 20 items	\$300.00
OPEN-CAMPUS SALSA PARTY		
	\$500.00 x1 for DJ	\$500.00
Food/Refreshments		
	\$6.40 x 10 for water	\$64.00
	\$4.45 x 15 for chips	\$66.30
PULSO LATINO AFTER PARTY Entertainment		
	\$500.00 for hire of	
	BOOMSTAND! (band)	\$500.00
	\$21.00 x 6 for pizza	\$126.00
	TOTAL	\$4,624.30

Amount Budgetted

33.15

1799.15

Bryn Mawr Republicans

Contacts:

Co- Chairwoman: Ariel Puleo, apuleo@brynmawr.edu, (860) 977-1244, C-892 Co-Chairwoman: Petra Giblin, pgiblin@brynmawr.edu -- Abroad Spring '09

18 members

EVENT	ITEM	Quantity Price	Total Needs Total	Awarded
CPAC Conference				
2/27-2/28	Transportation: Amtrak Regional	5 5 person price w/ a student advantage discou	r \$426.00	196
	SEPTA: Bryn Mawr - 30th St. Stati	ic 5 \$8.25 per round-trip ticket	\$41.25	16.5
	Conference Admission	5 \$25 each	\$125.00	50
	Hotel (Doubletree, Washington D.	C 1 night \$130 per night (1 room, 2 double beds, 1 cot)	\$130.00	130
Tabling for Fall Frolic				
late September	Trader Joe's Cookies	1 \$2.50 each	\$2.50	2.5
Co-Hosting Vagina Me	onologues (with One World, Athlet	tic Association, BMC Democrats, and the Women's	Center)	
Early Spring	Donation		\$100.00	0
SEMESTER TOTAL:			\$824.75	395

Rocky Horror Picture Show

The purpose and activities of The Rocky Horror Picture Show consist of organizing, practicing, and performing the Rocky Horror Picture Show: by Mawrtyrs and for Mawrtyrs.

Contact Information:

President Iolanthe Good Box C-1310 (717)330-4621 igood@brynmawr.edu

Treasurer Marge Stack Box C-551 (860)748-2321 mstack@brynmawr.edu

rror Picture Show

" In the Pitcher's Smoot country"

Campus-Wide Event

Shadow performance of Rocky Horror Picture Show

Movie Rights (from Criterion Motion Pictures)

Candy for the Audience
Bride of Frankenstein Wig
Fake saxophone
Plain black t-shirt
Green glitter paint
Fishnet stockings
Other props

Total

Plain black Carnet
Green glitter paint

Amount Requested Amount Budgeted

\$450	300
\$10	Or control of the con
\$20	0
\$15	0
\$3	0
\$5	0
\$15	0
\$30	0
	The contraction of the property of the contract of the contrac
\$548	0
	300

SAW South Asian Women

Contacts:

President: Mahvish Qureshi & Unnati Pant, mqureshi@brynmawr.edu & upant@brynmawr.edu, (201)562-

Secretary: Fatima Quadri, Fquadri@brynmawr.edu, 2703126820

Treasurer: Priyanka Nalamada, Pnalamada@brynmawr.edu, 6468840074

EVENT	ITEM	Quantity Price	Tot	al Needed
Hell Week/ Welcome Ba	ack Meeting			
	5-Feb Food: Samosas & coke			\$120.00
	Rubber Ducks	20 \$	1.00	\$20.00
Outside Speaker/ Chari				2050000
March	Honorarium			\$300.00
	Accomodation/Travel			\$200.00
	Publicity			\$20.00
	Refreshments			\$120.00
Justice Week Activity				
End March	Supplies			\$20.00
	Food			\$20.00
Movie Screening				
April	Food			\$100.00
Holi				
May	Colors			\$20.00
A	Food		\$	100.00
May Day Henna Tattoo				
May	Fee		\$	500.00
(Done with Traditions)				
SEMESTER TOTAL:				\$1,540.00

6267 & (917)710-3687

Total Awarded

Bi-Co Scottish Country Dance (Spring 2009)

Contacts:

Co-President: Margaret Summerfield, msummerfie@brynmawr.edu, (914) 310-4772 Treasurer: Lise Chlebak, lchlebak@brynmawr.edu, (802) 299-6324, Box C-1431

EVENT	ITEM	AMOUNT REQUESTED	AMOUNT AWARDED
General Classes			
Date: Once a week	Musician Gifts	\$120.00	0
	Dance Books	\$60.00	0
	Publicity	\$8.00	0
Dithean			
Date: Unknown	Ball Booklets	\$50.00	0
	Decorations	\$30.00	0 0 0
	Food	\$35.00	0
	Plates, Cups, etc.	\$15.00	0
	Musician Gifts	\$60.00	50
May Day			
Date: 03/05	Piper	\$100.00	100
	Brooches	\$63.00	0
Total Requested		\$541.00	150

Society for the Physical and Natural Science

Spring 2009

Contacts:

Co-President: Sarah Miller, shmiller@brynmawr.edu, 917-816-5139 Co-President: Eva Bastianon, ebastianon@brynmawr.edu, 845-325-6936

Treasurer: Heather Fetting, hfetting@brynmawr.edu, 443-845-5264

EVENT	ITEM	Quantity Price	e To	tal Needed
Longwood Gardens Trip				
Fe	eb-09 Admission Transportation Item 3 Item 4		\$60.00 \$20.00	\$80.00
SPNS Science Party II				
Date	Food Decorations		\$40.00 \$20.00	\$60.00
Documentary Screenings		2-3 times		
Throughout the semester	Snacks	30		\$30.00
General Publicity	Flyers	\$	\$10.00	\$10.00

SEMESTER TOTAL:

\$180.00

S

Total Awarded

STUDENTS FOR JUSTICE IN P

Contacts:

President: Daisy Shutterly (617 869 2773) dshutterly@bmc, C-92 Secretary: Hind Eideh (516 816 0038), heideh@bmc, C-653

Activity/Event	Amount Requested	Amount Budgeted
1.Charity Dinner for Gaza	\$700	
- Food (Catered)	\$500	\$400
- Speaker	\$200	
	Total: \$700	
2. Phone banking		
supplies	\$30	
	Total: \$30	
Every Friday 2-3 pm		
3. Memorial for Gaza		
supplies: (flags, ribbons, etc)	\$30	\$30
	Total: \$30	
Date: TBA	14 - 4	
4. International Justice Week	\$50	\$50
supplies	Total: \$50	
5. Speaker on Gaza Crisis	\$300	
Friends Central Committee	9500	
speaking fee	\$250	
transportation	\$50	\$50
	Total: \$300	877.7
6. Palestinian traditional Dance (Dabkeh)		
transportation for philadelphia performance	Total: \$30	\$30

TOTAL REQUESTED: \$1170

\$560

Video Gamers Club

Contacts:

President: Jillian Barndt jbarndt@brynmawr.edu; (215) 850-3882; C-30 Treasurer: Michelle Beard msbeard@brynmawr.edu; (580) 678-6259; C-32

EVENT	ITEM	Quantity	<u>Price</u>	Total	Amount Budgeted
Video Games	LittleBigPlanet (PS3)	1	\$49.99	\$49.99	\$49.99
	Mirror's Edge (PS3)	1	\$41.48	\$41.48	\$41.48
Video System Accessories	PS3 Wireless Controller	1	\$32.99	\$32.99	
	Wii Wheel	3	\$9.99	\$29.97	
	Wii Nunchuck Controller	1	\$17.96	\$17.96	\$17.96
SEMESTER TOTAL:				\$172.39	\$109.43

January 27th, 2009

Spring 2009 SGA Budget

Virgin Mawrtyr Bryn Mawr's Literary Erotica Magazine

Mission:

Virgin Mawrtyr is a bi-annual literary magazine that publishes both literary and visual works of Bryn Mawr students that focus on sex, gender and the body.

Contact Information	n:	
Editor-in-Chief	Michelle Zauner	mzauner@brynmawr.edu. 541-510-7059
Editor-in-Chief	by Howell	howel@trynmawredu_312-666-8382

Members: Activities

-20 editors/staff

Bi-monthly meetings consist of discussing individual ideas and contributions for the literary magazine, general layout and theme, as well as special events.

EXPENSES:		tem	Amount Requested	Amount Given
Virgin Mawrtyr Publication Costs				
10.	Virgin Mawrity takes a DIY approach to publishing to conserve funding for other events.	Xerox Copying	\$150	\$100
	(Xerox Copying's lack of a receipt will require that we talk further with SGA funding due to various company policies (i.e.	Scissors x3	\$10	\$0
	Staples] that prohibit instore printing of nude images that are present in the publication.)	Glue x3	\$10 \$10	50
vents				-
Ipring Issue Release Party		Snacks/Refreshments	\$50	\$30
		Decorations	\$50 \$40	\$30 \$20
foual Arts Exhibition	Virgin Mawrtyr will provide artists with color printing, photo paper, lighting, framing and mounting supplies.	Snacks/Refreshments	\$50	\$30
		Decorations	\$40	\$20
		Photo Paper	\$50 \$40 \$50	\$30 \$20 \$40 \$20 \$40 \$40
		Color Printing	\$20	\$20
		Mounting/Framing	\$40	\$40
		Gallery Lighting	\$40 \$50	\$40
Italf T-Shirt Making		T-Shirts	\$50	\$40
		Stencil Materials	\$20	\$10
		Spray Paint	\$50 \$20 \$20	\$40 \$10 \$10
TOTAL			\$600	\$400

VISIONARY BUDGET SPRING 2009

Visonary: The International Studies club is a place for people who are interested in foreign affairs and the world around us. We have hosted documentary nights for the community and hold discussions weekly.

EVENT	/ITEM
--------------	-------

AMOUNT REQUESTE AMOUNT RECEIVED

Speaker	\$100	\$0
	A STATE OF THE PROPERTY OF THE	Control Send Miller

Field Trip to Washington DC

Transportation

Train from BMC to Philly (8)	\$66	\$0
. SET SPRING 2	203	
Bus from Philly to DC (8)	for people with are interes	ted in \$224
DC one day metro pass (8)		\$0
Newseum tickets (8)	\$144	\$72

TOTAL

\$296

Visionary meets weekly. There are curently 8 members.

Co-President: Lauren

Co-President: Ana Arquilla

Co-President: Jessica Good

Russell

Box C-1498

Box C-1309

Box C-731

831-402-3617

are curently 8 members.

480-784-7350

908-500-2136

aarquilla@brynmawr.edu (8)

atm 70% / off

a decident monetación de

VOICES FOR CHOICE

Contacts: Catherine Down, Elizabeth Walsh

President: Elizabeth Walsh, ewalsh@bmc (509)594-2146

President: Catherine Down, cdown@bmc

EVENT	ITEM	Quantity Price	Total Needed	1
Film Screening- Lake o	f Fire			
	rental fee	St	5.00	
	food	\$25	5.00	
	utensils	\$10	0.00	
Afghan Women's Healt	h Awarness Campaign			
	Copies	250 \$1	0.00	
	posterboard	\$20.	00	
	markers, paint	\$10.	00	
Discussion - 4 Months,	3 Weeks and 2 Days			
	food	\$25	.00	
	utensils	0.25703	0.00	
SEMESTER TOTAL:		\$10	5.00	

Total Awarded

\$5.00 \$15.00

\$5.00

\$10.00

\$5.00

\$5.00

\$15.00

\$5.00

\$65.00

Women's Center

Contacts:

President: Nicole Matos, nmatos@brynmawr.edu, 570-856-0697 Secretary: Amy Shi, ashi@brynmawr.edu, 718-406-1772 Treasurer: Nga Nguyen, nlnguyen@brynmawr.edu, 610-526-5826

	ITEM	Price	lotal Needed	Total Awarded
V-Day's "The Vagina Mo February 16, '09	nolgues"	\$100.00	\$100.00	\$100.00
and the second second	Sponsorship	\$100.00	Principles of the Control of the Con	
	(Co-sponsoring by One World, BMC Athletic Association, BMC Democrat		8,	7
	1.101			
Jessica Valenti		\$400.00	\$400.00	
	Contribution to Honorarium	\$400.00	\$400.00	
	Sur - Leuter rumau 1872			
	Lylin gerynmawr.edu; 610-526-5526		underes seed o la	and Windows
Trans Awareness Week March 23-28, '09		\$930.00	\$930.00	7
maron Lo Lo, oo	Julia Serano honorarium	\$400.00	\$400.00	\$200.00
	Julia Serano travel expenses	\$500.00	\$500.00	\$100.00
	Food for TransGeneration screening	\$30.00	\$30.00	\$0.00
V-Day's "A Memory, a Me	onologue, a Rant, and a Prayer"	\$210.00 Republican	\$210.00	and Square No.
V-Day's "A Memory, a Mo March 20-21, '09	onologue, a Rant, and a Prayer" Co spensoring by One World, BMC		101100000	\$80.00
V-Day's "A Memory, a Mo March 20-21, '09	Props and Set-up BMC Democrats	\$80.00	\$80.00	
V-Day's "A Memory, a Me March 20-21, '09			101100000	\$50.00
V-Day's "A Memory, a Me March 20-21, '09	Props and Set-up Costumes	\$80.00 \$50.00	\$80.00 \$50.00	\$50.00 \$20.00
Maion 20-21, 03	Props and Set-up Costumes Publicity Fundraising	\$80.00 \$50.00 \$30.00 \$50.00	\$80.00 \$50.00 \$30.00 \$50.00	\$50.00 \$20.00
V-Day's "Until the Violen	Props and Set-up Costumes Publicity Fundraising ce Stop" screening	\$80.00 \$50.00 \$30.00 \$50.00	\$80.00 \$50.00 \$30.00 \$50.00	\$50.00 \$20.00 \$50.00
V-Day's "Until the Violen	Props and Set-up Costumes Publicity Fundraising	\$80.00 \$50.00 \$30.00 \$50.00	\$80.00 \$50.00 \$30.00 \$50.00	\$50.00 \$20.00
V-Day's "Until the Violen	Props and Set-up Costumes Publicity Fundraising Ce Stop" screening	\$80.00 \$50.00 \$30.00 \$50.00	\$80.00 \$50.00 \$30.00 \$50.00	\$50.00 \$20.00 \$50.00
V-Day's "A Memory, a Me March 20-21, '09 V-Day's "Until the Violen April 2, '09 SEMESTER TOTAL:	Props and Set-up Costumes Publicity Fundraising Fundraising Fundraising	\$80.00 \$50.00 \$30.00 \$50.00	\$80.00 \$50.00 \$30.00 \$50.00	\$50.00 \$20.00 \$50.00

Prons and Set-up

Yalah!

Bi-Co Belly Dance Club

-		 _
Co	mts	 e-
~~	1110	 э.

President: Lavanya Jayakar Ijayakar@brynmawr.edu, (847)340-9614 Box C-737
Co-President: Justina Khuu jkhuu@brynmawr.edu, (347)263-1498 Box C-1183
Vice President: Sarah Matteson smatteson@brynmawr.edu, (443)802-5422 Box C-1064
Treasurer: Marie Guldin mguldin@brynmawr.edu, (484)695-0410 Box C-181

Events:

Performance and Culture Sh	lowcase with the Hula Club		Amount	Rewarded
	Persian food from Mediterranean	Grill		
	1 Greek Salad (\$22 each)		\$22	22
	3 Hummus (\$22 each)		\$66	22
	3 Dolmas (\$25 each)		\$75	25
	Drinks, Plates, and Miscellanous I	tems	\$40	0
Workshops:	Feb. 28	with Azhia (3 hrs)	\$300	300
	Apr. 4	with Peterson (2hrs)	\$200	200
Costumes and Props:	5 harem pants (\$30 each)		\$150	0
Costumes and Props.	5 scarves (\$30 each)		\$150	0
	6 canes (\$15 each)		\$90	0
	2 swords (\$50 each)		\$100	0
Practices:	batteries for iPod speakers		\$30	15
		Total:	1,223	584

ZAMI: LGBTQ for Students of Color and Their Allies

Fall 2008 Budget

Zami has a dual purpose of support and visibility for lesbian, gay, bisexual, transgendered, queer and questioning people of color. Through meetings and discussions, we create a safe space for open dialogue on gender and sexuality within the context of the cultures that we represent. Through campus events we promote awareness and foster support for the community. By bringing vocal activists lecturers and cultural workers to campus we hope to inform the larger community about political and social issues affecting the LGBTQ-PoC community.

Centered in an understanding of pluralism, and the fluidity of identity, we seek

EXECUTE AN ENGINE OF THE PROPERTY OF THE PRO

Amount Requested

Amount Given

Activities:

 Movie Screening <u>To Wong Foo</u> (Open to Campus) Mid February

> Pizza 9\$/pizza*4 \$32 \$2.5/2L soda*2 \$5

> > \$37

50

Movie Screening <u>Philadelphia</u> (Open to Campus)
 Early March

Pizza 9\$/pizza*4 \$32 \$2.5/2L soda*2

2

\$37 \$37 3. Open Campus Discussion Mid April Pizza 9\$/pizza*5 \$45 \$2.5/2L soda*3 \$8 \$53 \$0 4. Open Campus Discussion Early May Pizza 9\$/pizza*5 \$45 \$2.5/2L soda*3 \$8 \$53 \$53 Total: \$180 \$90